Broadband and Interference
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Where
Speed of light = 3x108 [m/s]
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150,000,000 bits/sec
~2500 x 15 = 61,440 x 4000 = ¢
downstream tones  bits bits ~ Symbolrate 150 Mega bits/sec

In reality we cant use all tones or get 15 bits on every tone!
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Less SNR -> less space for a higher order modulation constellation -> less information we can carry
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Internet: Old TV caused
village broadband outages for
18 months
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Switching off the problem television fixed the issue for Aberhosan villagers, Openreach says
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Time

A 4 Resulting waveform (square wave)
after another |7 or more
harmonics are added.
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LAB DEMO
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